SCRxBBLE {# DETECTIVES

Challenge #1 Challenge #2
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Place these letters ... Place these letters ...
Alc|FlG) 1K/ L|N, AlBJClE|H]I|L|N.
s1 T1 U1 v4 w4 Y4 Z10

P/R][s/[T|u/w]Y. 0.
Using these clues:

Using these clues:
Corners contain @ Corners contain @
is adjacent to w: The row with totals 4 points.
One word ends with .

¥y hides one point.
The row with ¢ contains
E is adjacent to &
% is a vowel

Three of the emojis have @
The column with | T | totals 11 points. Tile below = has one point.
s hides one point. The row with ' contains
@ is adjacentto & E and are nextto
The letters for column with w: are Tile below :& has 4 points.
m @ Top right corner has 3 points.
is adjacent to &

Top right corner has 4 points.
@ is adjacent to (&

@ and @ are next to
is adjacent to gy
The letters for column with ¢ are [L] [S][U]
“ contains @

The row with @ totals 9 points.
Tile below &' has 3 points. The row with =
@ is adjacent to e The column with totals 18 points.
giiy hides one point. is adjacent to +
@ hides one point.

The first letter in the gy row has one point.
Emojis hide [0] [I] c)

One word starts with .

The row with g contains @
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